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1. Let F(x) = g(f(x)), where f and g are differentiable on (—o0, 0). If f(2)=3, f'(2)=-3,

and g'(3)=4, find F'(2). (8points)
2. Letf(x) =[\o+r'dr. Find f'(4) . (8points)

3. Find an equation of the tangent line to the curve y = 3x* + 2x - 1 at the point (1, 4).
(8points)

4. Find the following limits (16points) :

(1) lim Y2

x—>1 x—1°

@) lim (12X,

x—»| x .._1

5. Find the following integrals (32points)

h Nx 2

(@) J;li/;—«lldx. ®) [+ dx.
(c) .[x cos x dx. (d) J(sinx)3(cosx)2dx.

6. Let f(x) =x + % . Find the absolute maximum and absolute minimum values of f on
[1, 5]. (Bpoints)
7. Evaluate ”i;ce"” dA, where R 1s the rectangular 0<x<2 and 0< y <1. (8points)

8. Find % if (12points) :

(@y=-§3. (b)y=x".
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